#### **Department of Public Works and Highways**

Contract ID: 23GP0064

Contract Name: Construction of River Control along Panay River Basin, Barangay Poblacion Ilaya, Dao, Capiz

Location of the Contract: Barangay Poblacion Ilaya, Dao, Capiz

# CONTRACT AGREEMENT

KNOW ALL MEN BY THESE PRESENTS:

This **CONTRACT AGREEMENT**, made this , **WAY 9** 2 2023 , by and between:

The **GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES** through the **Department of Public Works and Highways (DPWH)** represented herein by **RICHARD EMMANUEL P. RAGRAGIO**, OIC, District Engineering, duly authorized for this purpose, with main office address at Brgy. Consolacion, Dumalag, Capiz, Philippines, hereinafter referred to as the **"PROCURING ENTITY"**;

-and-

**MEGAGOLD CONST. & DEV'T. CORP** a single proprietorship organized and existing under and by virtue of laws of the Republic of the Philippines, with main office address at 2764, Arnaldo Blvd., Brgy. Baybay, Roxas City, Capiz, Philippines, represented herein by **KARL PAOLO H. ENRIQUEZ**, duly authorized for this purpose, hereinafter referred to as the **"CONTRACTOR"**;

•

# WITNESSETH:

WHEREAS, the PROCURING ENTITY is desirous that the **CONTRACTOR** execute the Works under Contract ID **23GP0064** - **Construction of River Control along Panay River Basin, Barangay Poblacion Ilaya, Dao, Capiz** hereinafter called the "Works" and the **PROCURING ENTITY** has accepted the Calculated Bid of the **CONTRACTOR** for the execution and completion of the **Works** at the calculated unit bid prices shown in the attached Bill of Quantities, or a total Contract price of **TWENTY NINE MILLION ONE HUNDRED THOUSAND PESOS & 00/100 CENTAVOS (PHP 29,100,000.00)**.

**NOW, THEREFORE**, for and in consideration of the foregoing premises, the parties hereto agree as follows:

- 1. In this **CONTRACT AGREEMENT**, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents shall be attached, deemed to form, and be read and construed as part of this **CONTRACT AGREEMENT**, and shall be interpreted in the following order of priority:
  - a. This Contract Agreement
  - b. Documents forming part of the Contract Agreement:

A MERLE D. BELARMINO

**Construction Section** 

MARITES'F. LEGASPI

Accountant III



#### Department of Public Works and Highways Contract ID: 23GP0064

Contract Name: Construction of River Control along Panay River Basin, Barangay Poblacion Ilaya, Dao, Capiz

# Location of the Contract: Barangay Poblacion Ilaya, Dao, Capiz

- Notice of Award (NOA) with the Contractor's signed "conforme"
  Contractor's Bid in the Form of Bid, including its Technical and Financial Proposals, as calculated by the Procuring Entity and conformed to by the **CONTRACTOR** through the NOA
- (3) Instruction to Bidders (ITB) and Bid Data Sheet (BDS)
- (4) Supplemental/Bid Bulletins for Bidding Documents
- (5) Special Conditions of Contract (SCC)
- (6) General Conditions of Contract (GCC)
- (7) Specifications
- (8) Drawings
- (9) Performance Security
- (10) Other Documents
  - (a) Construction Methods
  - (b) Construction Schedule in the form of PERT/CPM Diagram or Precedence Diagram and Bar Chart with S-Curve, or other approved tools of project scheduling, and Cash Flow.
  - (c) Manpower Schedule
  - (d) Equipment Utilization Schedule
  - (e) Construction Safety and Health Program initially approved by the Head of the Procuring Entity
  - (f) Contractor's All Risk Insurance (CARI)
- In consideration of the payments to be made by the **PROCURING ENTITY** to the **CONTRACTOR** as hereinafter mentioned, the **CONTRACTOR** hereby covenants with the **PROCURING ENTITY** to execute and complete the **Works** and remedy any defects therein in conformity with the provisions of this **CONTRACT AGREEMENT** in all respects.

In consideration of the execution and completion of the **Works** by the **CONTRACTOR**, the **PROCURING ENTITY** hereby covenants to pay the **CONTRACTOR** the unit prices in the **CONTRACTOR**'s Calculated Bid, as applied to the actual quantities accomplished as certified by the **PROCURING ENTITY** under the provisions of this **CONTRACT AGREEMENT**, at the times and in the manner prescribed by this **CONTRACT AGREEMENT**.

MARITES F. LEGASPI

**RICHARD EMMANUEL P. RAGRAGIO** 

OIC, District Engineer

Accountant III

3.

4.

# **Department of Public Works and Highways**

Contract ID: 23GP0064

Contract Name: Construction of River Control along Panay River Basin, Barangay Poblacion Ilaya, Dao, Capiz

here	items of work covered unde by agrees to complete ti <b>ndar Days.</b>	r this contra he contract	act are e : <b>TWO</b>	numerated he HUNDRED	reunder, and ONE (201)
ITEM NUMBER	DESCRIPTION	QUANTITY	UNIT	UNIT COST (Php)	TOTAL AMOUN (Php)
PART B. O	THER GENERAL REQUIREM	ENTS			
B.5	Project Billboard/Signboard	3.00	each	5,752.32	17,256.96
B.7(2)	Occupational Safety and Health Program	1.00	l.s.	60,450.43	60,450.43
B.9	Mobilization/Demobilization	1.00	l.s.	166,175.74	166,175.74
B.18 (1)	Craneway	1.00	l.s.	2,519,722.91	2,519,722.91
PART J. FL	OOD CONTROL AND DRAI	NAGE	1		1
PART J-A.	EARTHWORKS				
611(1)	Trees Furnishing and Transplanting	6,000.00	each	150.53	903,180.00
1700(1)	Clearing and Grubbing	2,020.00	sq.m	63.93	129,138.60
1701(1)	Unsuitable Excavation	928.11 /	cu.m	306.12	284,113.03
1704(1)b	Embankment (from borrow)	1,889.74	cu.m	682.48	1,289,709.75
PART J-B. I	BANK AND SLOPE PROTECT	ION WORK	S		
1712(2)	Concrete, Slope Protection	783.79	Cu.m. in place	10,090.95	7,909,185.70
1717(2)a1	Sheet Piles (Steel), Slope Protection	1,968.00	m.	8,039.16	15,821,066.88
		~~~~~		TOTAL	29,100,000.00

**V** 

esentative **ARIOU** 

MARÍA MERLE D. BELARMINO

ź



### Department of Public Works and Highways Contract ID: 23GP0064 Contract Name: Construction of River Control along Panay River Basin, Barangay Poblacion Ilaya, Dao, Capiz Location of the Contract: Barangay Poblacion Ilaya, Dao, Capiz

**IN WITNESS WHEREOF**, the parties hereto set their respective hands on the day, month and year first above written.

#### **PROCURING ENTITY:**

## **CONTRACTOR:**

**Represented by:** 

**Represented by:** 

RICHARD EMMANUEL P. RAGRAGIO OIC, District Engineer

Witnessed by:

MARITES F. LEGASPI Accountant III

KARL PAOLO H. ENRIQUEZ

Authorized Representative

MARIA MERLE D. BELARMINO Chief, Construction Section

# **Department of Public Works and Highways**

Contract ID: 23GP0064

MARIA MERLE D. BELARMINO Chief, Construction Section

**NRIOUEZ** 

ontract Name:	Construction of River Control along Panay River Basin, Barangay Poblacion	1
	Ilaya, Dao, Capiz	

Location of the Contract: Barangay Poblacion Ilaya, Dao, Capiz

REPUBLIC OF THE PHILIPPINES)

CITY OF ROXAS ) S.S

#### ACKNOWLEDGEMENT

BEFORE ME, as the Notary Public personally appeared RICHARD EMMANUEL P. RAGRAGIO, OIC, District Engineer, representing the **REPUBLIC OF THE PHILIPPINES (Department of Public Works and** Highways), with Tax Identification No. 124-538-849 issued on at Representative KARL PAOLO H. and ENRIQUEZ, Authorized Representative, representing MEGAGOLD CONST. & DEV'T. CORP. with Tax Identification No. issued on at known to me to be the same persons who executed the foregoing CONTRACT AGREEMENT and they acknowledged to me that the same is their true act and deed for and in behalf of the parties they represented.

This instrument is consist of Five (5) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my Signature and Official Seal this \_\_\_\_\_ day of MAY 0.2 2021 MARITES F. LEGASPI Accountant III Valid until December 31, 2024 Bell No. 75474 40 IBP No. 257801 / 01 02 21 / PASIG (11) Doc. No .: PTP No. 9795305 / 01 01 21 / ( AP12 97 Page No .: MCLE COMPLIANCE NO. VII 0011567 Book No .: valid until April 14, 2025 2027 Series of SAMILLANO DELFIN & SAMILLANO LAW OFFICES **RICHARD EMMANUEL P. RAGRAGIO** Second Floor, Room 6 & 7, Capiz Government and Business ( enter, Fuentes Drive, Rusas City, Capis OIC, District Engineer DPWH-INFR-51-2016 Page 5 of 5